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1. Answer the following as directed : 1x10=10

Rt wore fraaRe Oe fra :

(a) Moore is an idealist/realist philosopher.
(Choose the correct answer)

9 & A /Are A |
(% TEI! IR Sfenear)
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(2)

(b) Moore did not draw any distinction
between consciousness and the object of
consciousness.

(Write True or False)

T G oF oo [ qeme @l
o1y fefa 91 A |
(11 1 =pTe) feordn)
(c) According to Russell, a proposition is a
simple symbol/complex symbol.

(Choose the correct answer)

IR TCS, bl 57 T O /Sivel A |
(wm T AR Tferean)
(d) Russell delivered the lecture entitled
‘Descriptions and Incomplete Symbols’ in the

year 1918/1924.

(Choose the correct answer)
qe=cd ‘Descriptions and  Incomplete

Symbols’ T IFOICHI Sddt-/ > 8 H© AT
iR |

(om Te3co! AR Tferean)

(e) According to Wittgenstein, the world is the
totality of things/facts.
(Choose the correct answer)

TRRABTH WO, IO I/ (fact)d
2 |

(o= Tech AR Tferean)
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(2)

(b) Moore did not draw any distinction
between consciousness and the object of
consciousness.

(Write True or False)

TR Gl SF Goad Ry Twe @
1T AT 1 e |
(@ ¢ =P forn)
(c) According to Russell, a proposition is a
simple symbol/complex symbol.

(Choose the correct answer)

= WO, GBI 67 I O /Efbe] o |
(o TeChl AR Bferedr)
(d) Russell delivered the lecture entitled
‘Descriptions and Incomplete Symbols’ in the

year 1918/1924.

(Choose the correct answer)
=i ‘Descriptions and  Incomplete

Symbols’ S TFOII S3b/ 5538 IS &fHH
R |

3 (% T&ICo! MR Sferean)

(e) According to Wittgenstein, the world is the
totality of things/facts.

(Choose the correct answer)

TR WO, WIS B/ (fact)d
(R |

(o= Tedco1 MR Bferea)
22A/274 ( Continued )



(3)

(f) ‘“‘Language is an instrument.”” This statement
of Wittgenstein is associated with his
book  Tractatus  Logico-Philosophicus/
Philosophical Investigations.

(Choose the correct answer)

‘TR @3 SIfRE I TGeslReRid W2 RS

(999  Tractatus  Logico-Philosophicus/
Philosophical Investigations3 C3C® &% |

(w7 Tah! J1fR Sferean)

(g) According to Wittgenstein, a name refers to a
fact. Is it true?

TResIER WS, @bl ey ©% (fact)S o
GRCB STIC ?

(h) Name one analytic philosopher who gave
utmost importance on the logical form of a
proposition.

PSP TR TR SHIRE g el
91 & [ReEesR wreed 9 fors |

(i) “‘A fact is neither true nor false.”” Is this
statement true according to Russell?

tgf w (fact) S TR TG FICAICOIRS
20 17 AR oo W2 [Fecet e ?

(i) Give one example of a molecular proposition.
e 364 o Twrad fid |
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(4)

2. Answer the following questions : 2x5=10
e PR Teq fira

(a) State two differences between atomic
proposition and molecular proposition.

MRS o W1 SRT 71 T 2= 701
MY o1 |

(b) What are the differences between sensation
of blue and sensation of green according to
Moore?

T WO Tefl &7 G SF GO0 e
TR o (5 1 o112 e, o |

{c) ‘“When I say, for instance, ‘All Greeks are
men’, I do not want you to suppose that
implies that there are Greeks.”

What does Russell mean by these words?
‘e I Tl 9 @ S 8 =

TR, |WE 7[ T ONF G20 4R e
Ao @ Tzt M W FAcE

PrRez I
SRR TfFe e & @R Kooz 2

(d) How many sorts of descriptions are there
according to Russell? What are these?

M O {9397 2R @312 CREAR & & 2
22A/274 ( Continued )



(4)

2. Answer the following questions : 2x5=10
e 2r(CIRT ey fra

(a) State two differences between atomic
proposition and molecular proposition.

AT B T ST o9 A 4T Tl
1<y o141 |

(b) What are the differences between sensation
of blue and sensation of green according to
Moore?

TR MO AT T KA AE COEA T
TR TS & {6 =13 =i, o |

(c) ‘““When I say, for instance, ‘All Greeks are
men’, I do not want you to suppose that
implies that there are Greeks.”’

What does Russell mean by these words?
“afen ¥ el € @ SRET T =

TR, ¥R @ 92 O 93000 4R Eamh
Ao @ TR AE S FATHT

SRR wfRace o= & IR [z 2

(d) How many sorts of descriptions are there
according to Russell? What are these?

e WO [T AP 201 ? GRER B 9

22A/274 ( Continued )



(S)

(e) Why do logical positivists try to eliminate
metaphysics from the domain of philosophy?
Give reasons.

Ik T 1T e MR By I o e e
CFAYTI *_1 APIRY [T OB IR 2 TR
LraiE i i

3. Answer the following questions (any four) : 5x4=20
o] 2PCIIRY O il (R oreem wifdon)

(a) Why did Moore revolt against idealism?

T R SRAIe R Rewrz s e 2

(b) Why did Russell consider ‘The author of
Waverley’ as an incomplete symbol? Give
reasons.

izt ‘The author of Waverley’s
Sy Sl 3+ a1 FRe= 2 PR wefa |

(c) Why did Russell consider ‘Romulus’ not as a
name, but as a sort of truncated descriptions?

Give reasons.
qezee 99 ‘Romulus’$ o1 =11 25109 5723, <o
S Rgq9 RRoeez o1 9= ? $Re 7o |



(6)

(d) How does a proposition picture reality
according to Wittgenstein? Discuss.
THERETR TS Bl [ FETE AR
foaife F¢3 2 Scema 41 |

(e) Write a short note on ‘Family Resemblance’.

RIS AP’ SToies afb 59 G fora |

() What is Vienna circle? How do the logical
positivists attempt to prove that metaphysics
is not verifiable?
foam v& 67 <% eoreamRE SRR
AP 7= I GFCTed I8 FRI o163 2

4. Answer the following questions : 10x4=40

o] SRCAN Ted

(a) How does Moore refute idealism through his
paper entitled Refutation of Idealism?
Discuss. | 10
I (969 ‘Refutation of Idealism’ ¥z orqam
RIS @EME SRATS 187 IR 2 Szeqoe
41|

Or / 991

Elucidate various characteristics of Analytic
Philosophy. :

Reggareree vfo [ie cafEpmR o < |

22A/274 ( Continued )



(7))

(b) What is logical atomism? Why does Russell
consider his atomism as logical? How is fact

connected to logical atomism? Discuss.
2+2+6=10

% “RAER 7 M (96 A [
o3y e fice? o (fact)d OGS O
SREIRTA o & 7 SIcE 41 |

Or / 5241

Write a summary of Russell’s lecture on
‘General Propositions and Existence’. 10

A0 STRT T A B AN TFOOR
BT SRS SASRCCAT |

(c) Discuss the relation between meaning and
use after Wittgenstein. 10

TGRS SR SR S S AT A
21 3o fRCH SCoe <9 |

Or / J%41

Why does Wittgenstein emphasize on the
multiplicity of language game in his book,
Philosophical Investigations ? Elaborate.
CEURETHEG| @9 Philosophical
Investigations 5 RIS SRI-GHIPR RGP
7 g S FRCR 2 IR SCALA T |

22A/274 ( Turn Over )



(8)

(d) Discuss Wittgenstein’s Private Language

Argument. 10
TeeAERd UfEe SHN IFGCOl SHCEDAl
<401

Or / S+

What are the similarities and dissimilarities
between early Wittgenstein and later
Wittgenstein with regard to language?
Explain.

OEl TAFT  ATG-SR/LARABRA A Ted-
TRERABR TS 4P AL A PTPPRHR
& &2 =m0

2 B & ¢
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1. Answer the following as directed : 1x10=10
oo franedRd Fetem Ses fra
(a) Who is considered as the father of
existentialism?
g g fRowet 1% 915 71 =7 2

22A/275 ( Turn Over )



(2)

(b)) Who is the author of the book, The
Phenomenology of Spirit 7

The Phenomenology of Spirit B4« (5I_F
M ?

{c) Heidegger’s philosophy is basically a study
of ontology/ethics/epistemology.

( Choose the correct answer )

RAWIRA 7 eros oGl /MRl / EHRwE
S |

(= TEI00! AR Sfere )

(d) The second  phase of  Husser’s
phenomenology is known as pre-
phenomenology/descriptive phenomenology/
transcendental phenomenology.

( Choose the correct answer )
2R ARSI R RO AR-2reifeam/
AT AT /SR 2ADSIM @reTl = |

(o7 Teco! AR Sferear )

(e) Which of the following philosophers was

awarded Nobel Prize but declined to
receive it?

O e T e o1 frn e e
(O 2 3T e 2
(i) Martin Heidegger

b 2w
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(3)

(ii) Edmund Husserl
IS ZRJef
(iii} Jean-Paul Sartre
w1l o7 =
( Choose the correct answer )

( o= Teeco! 1R Tfered )

(f) Name the first stage of existential
transformation of man according to
Kierkegaard.

FAFMET T© Td ST IRTESR A9
WICOR T o131 |

(g) ‘Man is a constant surprise to him.” Whose
statement is this?

IR e ey Rem 1”7 (% 3e]pTR 919 2
(h) ‘“Husserl developed his phenomenology as a

reaction to naturalism.”” Is this statement

true?

‘el ol afefem  Rowel  osq

OIS 7 14 SRR 1 SN @5 2
(i) What is the etymological meaning of the

word Phenomenology’?

‘Phenomenology’ b Jefsare &gl {2
() Whose autobiography  is entitled

“The Words’?

“The Words’ I S¥&IKA! ?

22A/275 ( Turn OUET)



%)

2. Answer the following in brief : 2x5=10
wore franeRa v e fie
(a) Match Column—A with Column—B :
TE—-4 w1510 wB—3 Fe
Column—A Column—B
5T TE—Y
(i) Kierkegaard (1) Logical Investigations
e
(ii) Sartre (2) Being and Time
2
(iii) Heidegger (3) The Concept of Anxiety
RCTITR
(iv) Husserl (4) Being and Nothingness
B

(b) What, according to Heidegger, is the
difference between Being’ and Existence’?

TR T STE” R Hfew T A {2
(c) What is bad faith?
3-foami i 2
(d) What, according to Husserl, is ‘noema’?
Teje(q (o (e I8’ 1 noema F2
(e) Name two atheist existentialists.

wer! fARPaRa S A o
22A /275 ( Continued



(S)

3. Answer any four of the following questions :
5x4=20

SRR ERR R e BikeR e fi

(a) Distinguish between ‘being-in-itself’ and
‘being-for-itself’ in Sartre’s Philosophy.
R e Tl ARY e e SRR
of1efqy RO 41 |

(b) “All consciousness is always consciousness
of something.” Explain the meaning of this
Husserlian statement.
gl (PoAIE FHE 41 O ol I T=ES
«3 79 o T 9 |

(c) Explain the concept of intentionality in
Husserl’s Philosophy.
=g 7 ‘\ﬂ?ﬁ ?@ﬂ% (intentionality)?i
YIRETCo! 101 41 |

(d) Explain the significance of Kierkegaard’s
view that ‘truth is subjective’.

[TE ore A ARIER O

BiRIEEIN

(e) Discuss the nature of Dasein’ in Heidegger’s
Philosophy.
@2COAR wie  ‘Dasein’d YI]EIICH!
wcereAl 4T |

(f) Explain Heidegger’s concept of Philosophy.
(AR T ATl T F
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(6)

4. “Existence precedes essence.” Explain and
examine the statement. 10

‘g Cfeees oKTe! 17 Sfecol M e f[eE
sl

Or / 7331

Critically explain Sartre’s concept of freedom.

T FIATOR YRACON RORTES 101 H5ICRr |

5. What is phenomenological reduction? Explain. 10

oIS Rrafaeaa 6 2 o <41 |
Or / 71331

Discuss different phases of the development of
Phenomenology.

AT R RS *RiwTR Scas <41 |

6. What, according to Heidegger, is authentic
existence? Discuss. 10

R o Fe SBG F 2 Seaw 54 |
Or / 5331

Discuss after Kierkegaard the three stages of
human existence.

JFME TS =9 S 61 B9 SAcens=1 1 |
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(7))

7. Explain Phenomenology as a Philosophical

method. . 10
e NS T20ICet oS Tl F1 |
Or / izl

Which feature of existentialism do you think
reflects existentialism as a Philosophical
movement? Give reasons for your answer.

SRR T (RER W @@ T SIeTer
o T fdRT T2 @FR Yew TS IE
HACEAT |

* %k
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